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Answer all the questions.

1 (a) State whatis meant by the term ‘business aim’.

(c) Identify two external stakeholder groups of Traditional Timber Toys Ltd (TTT Ltd) who are
likely to benefit from its environmentally-friendly trading practices.
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2 Halep, the Human Resources Director, is concerned about the motivation levels of TTT Ltd’s Sales
Assistants. 2016 workforce data for TTT Ltd is given in Table 1 below.

Table 1
Traditional Timber Toys Ltd Store Sales
2016 workforce data Managers | Assistants
Total number of labour days 10400 68200
Total number of days staff arrived late for work 148 8184
Total number of days staff absent without authorisation 52 5456
Total number of staff who left employment 2 20

(a) Using the information given in Table 1, calculate the 2016 absenteeism rate for:
+  TTT Ltd’s Store Managers

. TTT Ltd’'s Sales Assistants.

2016
Workings Absenteeism
rate

TTT Ltd's
Store Managers

TTT Ltd’s
Sales Assistants

(41
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(b) Halep is considering recommending a pay rise for all of TTT Ltd’s Sales Assistants in an
attempt to improve their motivation levels.

Explain two ways in which giving TTT Ltd’s Sales Assistants a pay rise may impact on the
internal finances of the company.

[14]
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(a) State what is meant by the term ‘break-even point’.

.............................................................................................................................................. [1]
(b) State the formula for calculating unit contribution.

.............................................................................................................................................. [1]
(c) Evaluate the usefulness of break-even analysis to TTT Ltd. [8]
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4 TTT Ltd’s operations are affected by changes in its external business environment.

(a) State the meaning of each of the economic factors given below and suggest one way in
which an increase in each factor might impact on TTT Ltd.

External factor

Meaning

Impact on TTT Ltd of an increase
in the external factor

Inflation

Interest
rates

Taxation

Employment
levels

[8]

(b) Identify one social trend which may have a positive impact on future sales of wooden toys at
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1

The strategic options under review at TTT Ltd need to be carefully considered.

(a)

(b)

(c)

© OCR 2017

Consider Option 1 — Online presence.

State two secondary research sources TTT Ltd could use to investigate the online market for
traditional wooden toys.

Consider Option 2a — Bamboo toys.

Explain two impacts on TTT Lid’s Store Managers of the company selling toys made of
bamboo.

Consider Option 2b — Mechanical kits.

State two benefits to TTT Ltd of minimising wastage levels at its proposed production facility.
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(d) Consider Option 3 — Concession agreement.

Fiona, the Finance Director, has now produced estimated net cash-flow figures for
Option 3 — Concession agreement as shown in Table 2 below.

Table 2
Year | Estimated net cash-flow in £s
0 (750 000)
1 600 000
2 600 000
3 600 000
4 600 000

(i) Calculate the payback period for Option 3 — Concession agreement.

Show your workings:

Payback period = ........ccoooviiiiiiiiiiie

[2]
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(ii) Calculate the ARR (accounting (average) rate of return) for Option 3 — Concession

agreement.

Show your workings:

[2]

(iii) Using the 10% discount factors shown in Table 3 below, calculate the NPV (net present
value) for Option 3 — Concession agreement.

© OCR 2017

Table 3
Option 3 — Concession agreement
Year | Estimated net Discount Present value
cash-flow factor at 10%
0 1.000
1 0.909
2 0.826
3 0.751
4 0.683
NPV

Turn over
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Workings
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(a) Benedict uses Ansoff’s Matrix when considering a change of strategic direction.

(i) Name the quadrant of Ansoff’s Matrix applicable to:

+  Option 1 - Online presence

(ii) Explain why Ansoff’s Matrix is of little value to Benedict when considering Option 3 —
Concession agreement.

(b) Using both quantitative and qualitative information, evaluate which option (1, 2a, 2b or 3)
TTT Ltd should choose. [20]
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